SME4EE H5 10 2HAEhEE
153 I EFH ﬁi

: EERBGRFHEAS
—&

=5 BHEERELGRS (9.98X42U74)

#A: $M64E8H17H~20H

[EF] _ ) B AT B B R B A ER
i ¥ NS4 7ILL—2X R

BE | EFRAEFE FRE gl ze | & |2ez| we | B | =2 | & [
100m | K= =EA | 3 | IBAE |20] 1097 | -16 | 1| q2 | 1121 | -15]| 8

100m | 2% BE | 3 [ERAL|16] 1121 | +02 | 2

100m Nk 3| X%m | 7| 1150 | 37| 4

100m pIER  BESF 3 | FExmEA | 2 11.35 -03 | 6

100m | @7 @A [ 3 [MERMB|3] 1385 [ -157] 8

100m | E@ &K | 3 & |12 1120 | -11| 4

100m | 53 #mxes | 3| @meE [11] 1132 | -13 7] 3

100m | NgE P | 3 [ErmBE—|1] 1130 [ -1.1] 4

100m | *E %2 | 3 & | 5] 1126 | -11 | 4

200m |*UvkAinra5>] 3 =m | 4] 2191 | 22 1 | qi 2185 | +22 | 5 |
200m | & ®BE | 3 =R |11 2177 | 16| 1| qf 21562 | 22 | 1
200m | 2@ =3} | 3 KER | 7| 2216 | +24 | 2 | a2 | 2200 | +31 | 1

200m EE 3 WA | 3| 2261 | +19 | 4

200m INFR 2L 3 h 5 6| 2269 +16 | 5

200m | /Il 4BE | 3 | BERA&R[12] 2248 | +18 [ 5

200m | WA EX | 3 wET | 1| 2287 | +16 | 4

200m | &% #HE | 3 = |[5| 2561 | +0.7| 6 _ |
400m | REx Ai% | 3 | @R | 2| 5040 1] qi 50.58 7
400m | =B XZ2 | 3 | IBER| 4| 5238 3

400m | AR X# | 3 /N |10] 52.20 4

400m | BA X&F | 3 BE |9 5204 2

400m | W% &5 | 3 | EmIE | 5| 53.89 6

400m | =N =3 | 3| ®oR |5 5394 7

400m | Ak &8 | 3 [FrmsE—|4] 5283 5

800m | XL Bk | 3 | dhrRAE | 3| 20529 6

800m Eik B 3 | FiEARE |16] 1:59.37 3

800m | X& & 3 Rk | 4| 1:59.09 3

800m | & &K | 2 SR 8| 2:02.32 8

800m | kot @ | 3 | EAMII][ 6] 1:59.71 4
| 800m | =T R | 3 | e |16] 1:59.71 4 —

1500m | %5 mom | 3 | JIlkE | 5| 40127 T Q 3:59.77 2
1500m | BHF KZ | 3 | JIv& |4 | 402017 11 Q 4:01.74 6
1500m SO 3 | 7| 40526 3

1500m | &)l BE%E | 2 &R | 1| 41353 11

1500m A & 3 K | 4| 41002 9

1500m BEH 3 =N |5]| 41733 12

1500m | E& BB% | 3 | Z£#A |6 41758 12

1500m | % S8 | 3 m# | 1| 41094 7

1500m | 28 WiE | 3 |2r&=—| 1] 41340 10

3000m | #nim MBI | 3 | KERT | 4| 8:.39.44 T Q 8:30./6 1
3000m | g A [ 3 £ | 4| 857.73 11

3000m ZH 5 2 | &S |5 91907 17

3000m | /N&x k¥ | 3 i | 4] 9:.05.22 16

3000m | #is &EE [ 3 $7E | 5| DONF

3000m | —&AK EHfE | 3 AN | 1] 91419 18

3000m | BEH BN | 3| #8E | 5] 90453 10

T10mH | 7r3F &3F | 3 |#E@AE| 1] 1399 | -02 | 1 ] q 1402 | -14 | 2
110mH | lho @ | 3 FE | 5| 1431 | 07 1| 4 1455 | -14 | 8
110mH | IUA HE | 3 E# | 8| 1453 | 10| 1

110mH | &8 &= | 3 =i |14] 1489 | 02| 2

110mH | #7xt &% | 3 @ |12] 1507 | -17| 5

110mH | &8 A | 3 & |7 1501 [ 15[ 5

110mH | soht BEAER | 3 X# |15] 1517 | 05| 6

11omH | 758 B% [ 3 [ =& [1] 1496 [ -02] 4

Empk | oxkF AP | 3 |Bamas] __ NM

Bak | Am Ak | 3| ed | — 210 K
gk | NI B [ 3 =A 6.58 1.7 | 14
ElEpk | RO GAES | 3 | maiE | NM

BIE | =@ AW | 3 P 14.34 6
Ak | e BEA | 3 K1E 13.92 11
it | BE &Z | 3 = 1281 40
BAR | %% % | 3| A 1262 16

Q: BRIz &k BREEHE ol :

EEIC K D RBELE

CEEERICK B R TA T L —REHE



AME64EE $51E LHEHER
IR)IIEEH MR —E

: EERBGRFHEAS

R BFEERELBRE (9.98X42U74)
#BH:$fM64E8A178~20H

[BF]) M) B iR R B 8 B _E B i A ER
JEy=] EFK4 PE| FRA =] S8k & sR | EB CEk 5R SCEk =LA
— - | T10mi| 1588 | ~2.1 | 746 | =&8k| 168 | 528
i Mk I sl ks v MR, 550 T 400m [ 5728 570 2334 21
- - g ¥ NS4 7ILL—2X s
BB | RFRA PR PRE Imomr e=rr [eh|aE] EFRA  |9A|AE B ns |5A
Zm & | 3 T =m & | 3 T 2m & | 3
HH M 3 2 oH OB 3 2 oH OB 3
I N 3| A @@= | 3 3| I @@= | 3
4% 100mR =% BE | 3 BRA= |2 = BE | 3 1| =% E& | 3
% B | 3 S5 |eEn|BE| o TR = BT
EO %E | 3 23.08 T [ g 12,73 i
[£7) .
¥ FSAFILL—X RIS
| e
EH EFRA (PFE FRE @) ap & JTL%E wEl =% B |EG| % O
T00m | &k O%Y | 3] @= [8] 1219 | 14] 1] ai 207 | 14| 5
T00m | @)l =& | 3| JIGE 5] 1216 | 22| 1] i 1262 | +14 | 8
T00m | % %wE | 3 | &E |9| 1246 | 09 2
T00m | S8 Z% | 2| WwW |10 12656 | -11| 4
T00m | X% J#Hh | 3| =@ | 9] 1306 | —09 | 8
200m | B Bk | 3| TIIE | 3] 2606 | +16] 6
200m | #H WE | 3| &k | 6] 2624 | +25] 8
200m | ®I B | 2| @ 3] 2623 | +16] 8
Soom | W =& | 3 | BRm=|5] 22233 5
800m | W= Z8A1 | 3 |MNEEmWL| 4| 21619 3
800m | & ZM | 3 | 3508 | 2] 21727 7
T500m | W/ MPE | 3| L& [4] 43315 7
T00mH | B o | 3| MaE |9] 1414 | 05] 1] ol 735 | 215
T00mH | B ZIE | 2 |EREZR| 5| 1449 | -18] 2
T00mH | FOE =% | 3 | %A |10] 1501 | -18] 6
T00mH | NE &F | 3| JIBE |3 16511 | 22 7
100mH A RTE 3 |HappinessAC] 12 15.16 -0.1 5
T00mH | ®E —7% | 2| FHE | 6] 1515 | 20| 5
T00mH | =4 W% | 3| F#@ | 7] 1501 | 186
E =Bk Hy B 3 et A 1.60 6
EElk | Am tE | 2 [REEmE| _ 163 7
7E M@ Bk 2B EWR 2 REFmg 5.22 +0.1 | 27
EfEpk | n@ foE | 3 | A&k | _ 543 | +26 | 12
fafL % AR 3 | HEHSR 13.01 12
BARE (WL Sa xZ] 3| 2@ _ 12.66 25
EH E2FKA FE| A | EH SCE% B |[HBa]| &8 SCEk |_ B | HBR SCEk [[=Lhva
~ — |T00mH| 1442 | +1.4] 920 [BRiE| 813 208
s WE EE | 3| RE e 747 17500m | 2647 [+0.3| 762 2837 0
- s e T oA 7ILL—X B
BE | EFRE PR PRE aomrS=ne (en|aE BIRa  |2A|EE BFRA |5A
mER WMZE| 3 1 TR ES 2 1 TR ES | 2
KX Z= 3 2 KX =i 3 2 | B® =D | 3
Bk EE£ 3 R 3 A RERE 3 3| #MABA ®EF | 3
BAR—==—Zx 121 8 |°[7 =8 == [2 + | =5 B& | 2
K BT | 2 T |eTEn|BE| o6 B Sk [BE:
IH E5 | 2 19.23 2 [l 78.20 PR 1

Q:BRIIZ & ZRBEEHRE ol :

PR: B dn

s

SFRCEK

SEKIC K DRBERE 92 EKICKBAMNTATILL—XREHE




